《大学英语》课程复习题（高起本）
Part I  Reading Comprehension 

Section A

Directions: There are 3 passages in this section. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A), B), C), and D). You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the center.

Questions 1 to 5 are based on the following passage.

   Trials are taking place in North America and Europe to test an electronic device which will prevent children from watching unsuitable programs on television. 

   The device, known as a V-chip (the “v” stands for violence), allows parents to control their television set so that programs which are unsuitable for children cannot be watched on a particular television.

   The V-chip works by using an electronic code. When a program is broadcast, the signal from the television transmitter carries a code, which indicates the level of sex and/or violence in a particular program. The V-chip inside the television then examines the code for each program and blocks transmission of those programs which contain certain codes. 

   Makers of the V-chip say that parents can be confident that their children will not be able to watch those programs which they decide are unsuitable. 

   V-chip technology has attracted a lot of interest. President Clinton passed a law last year which will require all new televisions to be fitted with V-chips by 1998. And the European Parliament（欧洲议会） has included the V-chip in its new Directive on Broadcasting. 

   But critics say that the system will not be fool-proof, and that children will find ways of getting around it. There are also concerns that foreign satellite television companies may not abide by the rules. Others say that if viewers come to rely on the V-chip, other controls on program content may start to be relaxed. 

1. According to the passage, V-chip technology enables parents to _____C________. 

  A) turn off the television when they are not home

  B) test electronic devices that can take the place of the TV set

  C) keep inappropriate TV programs away from their children

  D) control the amount of time that their children spend on watching TV

2. What do we learn from the passage about the electronic code? ______A________
  A) It shows the level of sex and/or violence in a particular program.  

  B) It contains information about the television transmitter. 

  C) It is the signal that is sent out by the V-chip. 

  D) It is a computer program built in a TV set to examine the V-chip. 

3. The word “they ” in Paragraph 4 refers to __________B______. 

  A) makers  B) parents  C) children  D) programs

4. We can conclude from the passage that ____________C____________. 

  A) President Clinton attracted a lot of interest

  B) a law had been passed to prohibit sex and violence on TV

  C) TV sets sold in American after 1998 are required to have V-chips

  D) the European Parliament decided to import the V-chip technology from USA

5. Critics of the V-chip were concerned that _________D___________. 

  A) children may not like the new technology

  B) imported TV set may not have been equipped with V-chips

  C) children may get addicted to the new technology

  D) new problems may arise even if the V-chip works

Questions 6 to 10 are based on the following passage.

It is estimated that some seven hundred million people are unable to read and write, and there are probably two hundred and fifty million more whose level of attainment is so slight that it barely qualifies literacy (读写能力).

Recently the attack on illiteracy has been stepped up. A world plan has been drawn up by a committee of UNESCO experts in Paris, as part of the UNESCO Nations Development Decade, and an international conference on the subject has also been held. UNESCO stresses that functional literacy is the aim. People must learn the basic skills of responsible citizenship: the ability to read notices, newspapers, timetables, letters, price-lists, to keep simple records and accounts, to sort out the significance of the information gathered, and to fill in forms.

The major areas of illiteracy are in Asia, Africa, and Central and South America. In Africa there are at least one hundred million illiterates, comprising eighty to eighty-five per cent of the total population. In Europe the figure is about twenty-four million, most of them in Southern Europe, with Spain, Italy, Portugal, and Yugoslavia heading the list (the United Kingdom has about seven hundred thousand).

6. Studying carefully the clues in the passage, we learn that the total population of Africa is     B   .
  A) approximately seven hundred million

  B) approximately one hundred and twenty-five million

  C) approximately eight or eight point five thousand million

  D) exactly twenty-four million

7. The figure of illiteracy in Britain comprises   A     .
A) zero point one per cent of that of illiteracy in the world

B) zero point two per cent of the world adult population

C) thirty-five per cent of Europe’s population

D) three point five per cent of that of the illiteracy in Southern Europe

8. It is obvious that UNESCO  B       .
  A) is a company in France

  B) is a world organization attached to the U. N.

  C) works mainly at combating illiteracy

  D) has many experts whose level of attainment is far from literacy

9. A world plan mentioned in the passage aims at    C    .
  A) training responsible citizens

  B) enforcing the functions of UNESCO

  C) helping illiterates learn how to read and write

  D) urging Southern European countries to take the lead in attacking illiteracy

10. The author implies that this world plan is to     B   .
  A) be carried out in the major areas of illiteracy like Africa

  B) be realized in ten years

  C) be drawn up by Parisian experts

  D) be debated at an international conference

Questions 11 to 15 are based on the following passage.

In the course of the late 1930s thousands of workers transformed an old garbage dump in the New York borough of Queens into the 1939-40 New York World’s Fair. For the price of a five-cent subway ride and seventy-five-cent admission fee, some fifty-seven attendees could sample personally “the wonders of contemporary life.”

Since the middle of the nineteenth century, industrial states had held periodic expositions to showcase the goods produced by their nationals and by others. Although London’s Great Exhibition of 1851 had led the way, it was the French who were to produce such international displays of culture and machinery most frequently during the next half-century. American expositions tied the French example to the celebration of key historical anniversaries. The best-remembered example is the Chicago Exposition of 1893, which marked the four hundredth anniversary of Columbus’s arrival—one year late. The New York World’s Fair of 1939 was inspired by the 150th anniversary of the inauguration (就职典礼) of George Washington. 

What took place at these showcases of modern architecture, national pride, and international commercial competition? The 1893 Chicago Fair boasted its entertainment “Midway” as well as scientific exhibits, and visitors to the New York Fair in 1939 may well have been more impressed by the simulated (模拟的) 250-foot parachute jump than by the first speech by a president to be shown on television, or the first color film for home movie cameras. 

11. How much did a ticket to the 1939-40 New York Fair cost? ___C____.
  A) 5 cents. 

 B) 57 cents. 

C) 75 cents.   D) 80 cents.

12. The word “showcase” in paragraph 2 probably means __B_____.

  A) be put in a case
B) display

C) purchase
D) be bought

13. Which nation organized most of the international exhibitions between 1850 and 1900?    B    
  A) Great Britain.  B) France.  C) England.   D) The United States. 

14. We can conclude from the passage that the four hundredth anniversary of Columbus’s arrival should have been celebrated in _____A__________. 

  A) 1892  

B) 1893 

 C) 1894 

 D) 1895

15. What was one important feature of the 1893 Chicago Exposition?      D    
  A) Presidential speech.   B) Historical conference.

  C) Athletic competition.  D) Entertainment and scientific displays.
Section B
Directions: In this section there is a short passage with five questions or incomplete statements. Read the passage carefully. Then answer the questions or complete the statements with no more than 10 words. Be sure to write your answers on Answer Sheet (2).

Teen smoking rates have been dropping since 1997, federal health officials report today, but more than a quarter of high school students still smoke cigarettes. 

The Centers for Disease Control and Prevention says roughly 29% of American high school students are smokers, down from 36% in 1997. The finding confirms other studies that show a decline in smoking in this age group. 

The trend is occurring across all race and age groups and in both boys and girls, says Terry Pechacek of the CDC's National Center for Chronic Disease Prevention and Health Promotion. If trends continue, the report says, the national goal to reduce teen smoking rates to 16% or lower by 2010 is achievable. 

Pechacek attributes the decline to a 70% jump in the price of cigarettes from the end of 1997 to May 2001, along with expanded school, state and national smoking-prevention efforts. By 2000, the report says, 92% of the USA's school districts required tobacco-prevention education, and nearly half of middle and senior high schools had no-smoking policies. 

To keep teen smoking rates on a downward path, Pechacek says, cigarette prices should continue to rise and smoking-prevention campaigns should expand. “We’ve got it going in the right direction,” he says, “but we can’t be satisfied with what we have got. If we’re going to continue to decline, we’ve got to continue those efforts.” 

The data being released today are part of the Youth Risk Behavior Survey, a national school-based survey of 14,601 students in grades 9-12 that was conducted in spring 2001.

SAQ 1. This report mainly discusses  a decline in smoking rate of American high school students _____
SAQ 2. From 1997 to 2001, the smoking rate in America high school students has dropped by    seven  ___ percentage point.

SAQ 3. What did the US want to achieve in fighting teen smoking by the year 2010?   To reduce teen smoking rate to 16 percent or lower    
SAQ 4. The drop in teen smoking rate was a result of ____ rising cigarette prices    ___ as well as efforts from various sectors to prevent smoking.

SAQ 5. What should be the next step to reduce teen smoking rate according to Pechacek?      To continue to raise cigarette prices and expand smoking-prevention campaigns.   
Part II
 Vocabulary and Structure (35 minutes, 45marks)

Section A

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B), C) and D). Choose the one answer that best completes the sentence.

16. I enjoyed being on this course. I learned a lot from teachers and students _______A__.


A) alike


B) likely


C) likewise


D) liking

17. The meeting ___C______ take place on Thursday. But we’ve had to postpone it.


A) was delayed to




B) was stuck to




C) was supposed to




D) was resumed to

18. He spoke Japanese very well. He __D______ the language for years.


A) should have studied



B) must study


C) ought to have studied



D) must have studied

19. Prisoners armed with baseball bats used the hostages to keep the policemen _____B____.


A) at large


B) at bay


C) from behind

D) from inside

20. So Sophia held a high opinion of her own _____C___ for looking after herself.


A)ability

B) capability  
C) capacity

D) competence

21. He __D______ his children nothing and gave them everything they wanted, which

 spoiled the children.

A) disagreed

B) rejected


C) declined


D) denied

22. The new apartment house that was built a few months ago is large enough to __A_______ 

   over two hundred people.


A) accommodate


B) settle

C) live


D) share

23. Despite _____A____, it did a great deal of good work inside the trade union.

A) mistakes and weaknesses









B) of mistakes and weaknesses

C) it had mistakes and weaknesses

D) there were mistakes and weaknesses

24. She isn't rich; ___D____ that she will ever be.

A) and I imagine

B) and do I imagine

C) nor I imagine

D) nor do I imagine

25. It is an almost universal truth ___A___ the more we are promoted in a job, the less we actually exercise the skills we initially used to perform it. 


A) that


B) which


C) what



D) as

26. Think carefully before you answer his questions. You may be trapped ____C____ vital information.

A) giving away
B) to give away
C) into giving away
D) give away

27. Marianne was tempted to turn the large rooms into traditional French-style salons, _____D___ Howard was in favor of a typically English look.


A) when 


B) which


C) where



D) while

28. The school has very good teachers, but when it comes _____B__ its buildings, the school is poor.


A) to renovate

B) to renovating
C) for renovating

D) as renovate

29. That book is worth at least $15, but we could let you have it ___A_____ $10.


A) for



B) by 



C) at




D) on

30. Though he worked part time after class, his exam results are ____D____ above average.


A) away



B) too 



C) very



D) way

31. Tommy talks about pyramids as though he __D_______ them himself. 

  A) sees



B) has seen  

C) is seeing



D) had seen

32. Non-gaseous substances which ____B_____ naturally as pure elements, such as gold, are rare and are often highly valued.


A) happen



B) occur



C) perceive


D) assume

33. _____C___ the government’s record on unemployment, their chances of winning the election look poor.


A) Give



B) Giving



C) Given



D) To give

34. A sacred site might be a mountain that is ___C_____ some significance to a tribe.


A) with



B) by




C) of



D) at

35. He said it was important that every member ___A______ his subscription by the end of the month.


A) send



B) sent



 C) had sent

D) would sent

36. Worrying about the business has turned her into a nervous ____D_____ .


A) ritual 



B) theory



C) spectacle 


D) wreck


37. From the top of the hill you can get a beautiful ____A_____ of the entire park.


A) perspective

B) profit


C) prospective



D) position

38. Only in a few countries ___C_____ a reasonable standard of living.

A) the whole of the population enjoys

B) the whole of the population do enjoy

C) does the whole of the population enjoy

D) the whole of the population enjoy

39. If it ___B_____ , I’d have gone for a walk. 

A) didn’t rain


B) hadn’t rained 

C) wouldn’t have rained
D) wasn’t raining

40. Insurance statistics show that most wives ___C_____ their husbands.


A) survey



B) inspect


C) survive



D) engage

41. It is incredible that the 12-year-old managed to even reach the pedals, ____C____ drive the car.

A) may well


B) all but


C) let alone

D)along with

42. There exists the eternal struggle between good and ____B____ forces in the moral universe.


A) corrupt



B) evil


C) wicked


D) foolish

43. Old people are extremely reluctant to buy on ____A____ and likely to save as much money as possible.


A) credit



B) bill



C) debt



D) check

44. I’d rather you ____B___ anything about this to anyone, please. 

A) don’t say


B) didn’t say

C) won’t say


D) hadn’t said

45. Oh no! Look at all the water on the floor. A pipe ____C_____ while we were away. 

A) should burst    
     B) would have burst

C) must have burst       D) should have burst

Section B

Directions: Complete each of the following sentences with the proper form of the word derived from the one in brackets.

Example 1: Tom does not have a job. He is ___ __   _. (job)

   Answer: jobless
Example 2: It is ___    ___ to talk with one’s mouth full of food. (polite)

   Answer: impolite 

46. There has been an increasing __ awareness __ (aware) that many people are affected by crime. 

47. He recalled the __ breathless ___ (breath) excitement of early 1988, when hundreds and thousands of citizens gathered nightly for political meetings.  

48. They were on their way to the Shropshire Union Canal when their car was involved in a __ collision ___ (collide) with a van. 

49. Only half of the young birds may live to _ maturity ___ (mature). 

50.The dog shook itself __ vigorously __ (vigor), scattering drops of water everywhere. 

51. These figures gives a _ distorted__ (distort) view of the significance for the local economy. 

52. We should be worried about our children’s _.exposure __ (expose) to violence on television. 

53. _ Unemployment   (employ) is so damaging to both individuals and to communities. 

54. Social science is a _ collective ___ (collect) name, covering a series of individual sciences.

55. He didn’t want to tell Mr Morrison why he was  __ impatient   __ (patient) to get home. 

Part  III     Guided Writing 

(30 minutes, 15marks)

Directions: Recently Internet surfing becomes very popular. Write a short essay of about 150 words on this topic. You should base your composition on the outline given below:
         Surfing on the Internet brings a lot of pleasure beside information.

         Young children should not spend too much time surfing on the Internet.

         Give reasons.

一、 单项填空
1. Jim sold most of his things.He has hardly__A____left in the house. 

A.anything    B.everything    C.nothing    D.something 

2. My parents live in a small village.They always keep candles in the house_ C __there is a power-cut. 

A.if    B.unless    C.in case    D.so that 

3. ---Did Alan enjoy seeing his old friends yesterday? 

---Yes, he did.He__D  _his old friends for a long time. 

A.didn't see   B.wouldn't see    C.hasn't seen    D.hadn't seen 

4. George couldn't remember when he first met Mr.Anderson,but he was sure it was_ C__Sunday because everybody was at __church. 

A. /; the       B. he; /     C. a; /       D. /; a 

5. The children went home from the grammar school, their lessons__B __for the day. 

A.finishing       B.finished       C.had finished       D.were finished 

6. ---Now let's move on to another topic.Do you follow me?
---___D_____, Professor. 

A.No,I am not    B.Yes,I will    C.No,I haven't    D.Yes, perfectly 

7. It is not who is right but what is right _  C____is of importance. 

A.which       B.it       C.that       D.this 

8. Leonardo da Vinci(1452-1519)_  B   __birds kept in cages in order to have the pleasure of setting them free. 

A.is said to be buying    B.is said to have bought 

C.had said to buy           D.has said to have bought 

9. ---What do you think we can do for our aged parents? 

---You_  _A  _do anything except to be with them and be yourself. 

A.don't have to       B.oughtn't to      C.mustn't       D.can't 

10. Human facial expressions differ from those of animals in the degree__  B   _they can be controlled on purpose. 

A.with which       B.to which       C.of which      D.for which 

二、完形填空

阅读下面短文，从短文后所给各题的四个选项（A、B、C和D）中，选出可以填入空白处的最佳选项，并在答题卡上将该项涂黑。
In the clinic, I asked if Michael could be retested, so the specialist tested him again.To my 11 , it was the same score. 

Later that evening, I 12 told Frank what I had learned that day. After talking it over, we agreed that we knew our 13 much better than an IQ (智商）test. We 14 that Michael's score must have been a 15 and we should treat him 16 as usual. 

We moved to Indiana in 1962, and Michael studied at Concordia High School in the same year. He got 17 grades in the school,especially 18 biology and chemistry,which was a great comfort. 

Michael 19 Indiana University in 1965 as a pre-medical student.Soon afterwards, his teacher permitted him to take more courses than 20 .In 1968, he was accepted by the School of Medicine, Yale University. 

On graduation day in 1972, Frank and I 21 the ceremony（典礼）at Yale.After the ceremony, we told Michael about the 22 IQ score he got when he was six.Since that day, Michael sometimes would look at us and say 23,“My dear mom and dad never told me that I couldn't be a doctor, not until after I　graduated from medical school!”It is his special way of thanking us for the 24 we had in him. 

      Interestingly, Michael then 25 another IQ test. We went to the same clinic where he had 26 the test eighteen years before.This time Michael scored 126, an increase of 36 points.A result like that was supposed to be 27 . 

Children often do as 28 as what adults, particularly parents and teachers, 29 of them.That is, tell a child he is “ 30 ,” and he may play the role of a foolish child. 

11.A.joy        B.surprise       C.dislike         D.disappointment    ( D)
12.A.tearfully    B.fearfully      C.cheerfully      D.hopefully         ( A)
13.A.student     B.son          C.friend          D.doctor            (B)
14.A.argued     B.realized       C.decided        D.understood        ( C)
15.A.joke       B.mistake       C.warning        D.wonder           ( B)
16.A.specially    B.strictly       C.naturally       D.carefully           ( C)
17.A.poor       B.good         C.average        D.standard         ( B)
18.A.in         B.about         C.of            D.for             ( A)
19.A.visited     B.chose         C.passed         D.entered         ( B)
20.A.allowed    B.described      C.required       D.offered          ( C)
21.A.missed     B.held          C.delayed        D.attended         ( D)
22.A.high      B.same          C.low            D.different          (C)
23.A.curiously   B.eagerly       C.calmly         D.jokingly          ( D)
24.A.faith       B.interest       C.pride          D.delight            (A)
25.A.looked for   B.asked for     C.waited for      D.prepared for         ( B)
26.A.received    B.accepted      C.organized      D.discussed           (A)
27.A.imperfect   B.impossible     C.uncertain      D.unsatisfactory        ( B)
28.A.honestly    B.much         C.well          D.bravely            ( C)
29.A.hear       B.learn          C.expect        D.speak               (C)
30.A.wise       B.rude          C.shy           D.stupid              ( D)

三、阅读理解

阅读下列短文，从每题所给的四个选项（A、B、C和D）中，选出最佳选项，并在答题卡上将该选项的标号涂黑。 
Passage  A
Camp memories last forever!We make sure they are unforgettable! 

Shadow Ridge Summer Camps offer so many exciting things for campers to do. Unlike other camp programs that include horses as a small part of their program, at Shadow Ridge horses ARE the program!We are 100% horse from stable(马厩)management, nature walks, and track rides to bedroom furnishings. 
Horses help us achieve many of our aims. Girls can learn to develop responsibility, self-confidence and personal connections in their lives while having fun. Using horses as a wonderful tool for education, our camps offer an interesting place for growth and learning. 

Imagine each girl having her very own horse to spend time with and a best friend to love and take care of. Each camper is responsible for a horse for the week.Our riding program provides a lot of riding and lesson time.Campers will learn how to take care of the horse and the tack(马具), as well as how to ride. Days are filled with horse-related activities to strengthen the connection between each girl and horse, as the girls learn to work safely around the horses. 

At Shadow Ridge we try to create a loving, caring family atmosphere for our campers. We have“The Bunkhouse”(4 girls), the“ Wranglers Roost”(4 girls), and “The Hideout”(2 girls) in our comfortable 177-year-old farm house. All meals are home cooked, offering delicious and healthy food for the hungry rider. 

Our excellent activities create personalized memories of your child's vacation. Each child will receive a camp T-shirt and a photo album(usually 300-500 pictures)of their stay at camp. 

Our camps are offered during June, July and August 2007, for small groups of girls aged 13-16 years, not only from Canada but also other parts of the world. 

We will send you full program descriptions at your request. 

31.What is the main purpose of the passage?       A       
A.To attract people to the camps. 

B.To talk about camping experiences. 

C.To describe the programs of the camps. 

D.To explain the aims of the camps. 

32.What do we know about the camp programs at Shadow Ridge?       B            

A.Campers are required to wear camp T-shirts. 

B.Horses play a central role in the activities. 

C.Campers learn to cook food for themselves. 

D.Horse lessons are offered all the year round. 

33.The programs at Shadow Ridge mainly aim to help people      D    . 

A.understand horses better 

B.enjoy a family atmosphere 

C.have fun above other things 

D.achieve an educational purpose 

34.The passage is written mainly for        C     . 

A.horse riders 

B.teenage girls 

C.Canadian parents 

D.international travelers 

Passage B 
The African elephant, the largest land animal remaining on earth, is of great importance to African ecosystem(生态系统). Unlike other animals, the African elephant is to a great extent the builder of its environment. As a big plant-eater, it largely shapes the forest-and-savanna(大草原)surroundings in which it lives, therefore setting the terms of existence for millions of other animals that live in its habitat(栖息地). 

It is the elephant’s great desire for food that makes it a disturber of the environment and an important builder of its habitat.In its continuous search for the 300 pounds of plants it must have every day, it kills small trees and underbushes, and pulls branches off big trees. This results in numerous open spaces in both deep tropical forests and in the woodlands that cover part of the African savannas.In these open spaces are numerous plants in various stages of growth that attract a variety of other plant-eaters. 

Take the rain forests for example. In their natural state, the spreading branches overhead shut out sunlight and prevent the growth of plants on the forest floor. By pulling down trees and eating plants, elephants make open spaces, allowing new plants to grow on the forest floor. In such situations, the forests become suitable for large hoofed plant-eaters to move around and for small plant-eaters to get their food as well. 

What worries scientists now is that the African elephant has become an endangered species.If the elephant disappears, scientists say, many other animals will also disappear from vast areas of forest and savanna, greatly changing and worsening the whole ecosystem. 

35. What is the passage mainly about?          C            
A. Disappearance of African elephants. 

B. Forests and savannas as habitats for African elephants. 

C. The effect of African elephants’ search for food. 

D. The eating habit of African elephants. 

36. What does the underlined phrase “setting the terms” most probably mean?         D                 
A. Fixing the time. 

B. Worsening the state. 

C. Improving the quality. 

D. Deciding the conditions. 

37. What do we know about the open spaces in the passage?       D         
A. They result from the destruction of rain forests. 

B. They provide food mainly for African elephants. 

C. They are home to many endangered animals. 

D. They are attractive to plant-eating animals of different kinds. 

38. The passage is developed mainly by        A          . 

A. showing the effect and then explaining the causes 

B. pointing out similarities and differences 

C. describing the changes in space order 

D. giving examples

四 、Directions: Complete the following sentences with the appropriate forms of words or phrases according to the meanings of the expressions given in Chinese in brackets. （每小题2分，20分）
39. The world will be different, and we will have to be prepared to __ Adapt __ (适应) to the change. 

40. She left a short _ impersonal ___ (不涉及个人感情的) note, saying that she was leaving. 
41. I closed my eyes for a minute and must have __ dozed off __ (打盹).
42. Every visitor to Georgia is overwhelmed by the kindness, charm and ___ hospitality_ (好客)of the people. 
43.The talk took place _ in the presence_ (有…在场)of a diplomatic observer. 

44. It is not an idea around which the Community can unite. __ On the contrary (正相反), I see it as one that will divide us. 
45. The less you rely on pain killers now, the better it will be for your health _ in the long run _ (从长远来看). 

46. The company will spend $6 million on the development of new products and sales ___ strategies  (策略). 

47. Only one man tried to help us; the rest just __ looked on____ (旁观) in silence. 

48. I have had got very little help from the doctors and no ___ sympathy _ (同情) whatsoever. 
五、 写作 
假定你是李华，希望通过外籍教师Peter找一个英语笔友。请写一封短信，描述一下你理想中笔友的条件，并说明为什么选这样的笔友。
具体条件包括： 

1.年龄；2.性别；3.爱好（旅游、运动、宠物等）。
注意： 

1．词数100 左右；
2．可以适当增加细节，以使行文连贯；
3. 开头和结尾已经为你写好。

Part I  Reading Comprehension  (40%)

Section A

Directions: There are 3 passages in this section. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A), B), C), and D). You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the center.

Questions 26 to 30 are based on the following passage.

What makes Americans spend nearly half their food dollars on meals away from home? The answers lie in the way Americans live today. During the first few decades of the twentieth century, canned and convenience foods freed the family cook from full-time duty at the kitchen range.  Then, in the 1940s, work in the wartime defense plants took more women out of the home than ever before, setting the pattern of the working wife and mother. 

Today about half of the country’s married women are employed outside the home. But, unless family members pitch in with food preparation, women are not fully liberated from that chore. Instead many have become, in a sense, prisoners of the completely cooked convenience meal. It is easier to pick up a bucket of fried chicken on the way home from work or to take the family out for pizzas, or burgers than to start opening cans or heating up frozen dinners after a long, hard day. 

Also, the rising divorce rate means that there are more single working parents with children to feed. And many young adults and elderly people, as well as unmarried and divorced mature people, live alone rather than as part of a family unit and don’t want to bother cooking for one. 

Fast food is appealing because it is fast, it doesn’t require any dressing up, it offers a “fun” break. 

1. American women left home to work in large numbers because of ____C________.

  A) the improved living standard  

  B) the increase in food prices 

  C) the need of war-time industry

  D) the modernization of the kitchen

2. The phrase “pitch in” in Line 2, Paragraph 2, is closest in meaning to ___A________.

  A) “offer help or support”

  B) “eat with good appetite”

  C) “offer compliment”

  D) “disagree with”

3. What is a working mother’s best choice if she does not have time to prepare dinner for the family according to the passage?     C      
   A) Making a meal out of canned food.

   B) Buying some chicken on the way home and frying it. 

   C) Taking the family to dinner at a pizza place. 

   D) Heating up frozen dinners. 

4. Which of the following groups of Americans are most likely to cook their own meal at home?       D  
  A) Single working mothers. 

  B) Unmarried mature people. 

  C) Elderly people living alone. 

  D) Unemployed women with family. 

5. What is this passage mainly about?          C              
  A) Women’s liberation in America. 

  B) Changes in the American family during World War II. 

  C) Reasons for the popularity of fast food in America. 

  D) Rising divorce rate in America today. 

Questions 6 to 10 are based on the following passage.

   Trials are taking place in North America and Europe to test an electronic device which will prevent children from watching unsuitable programs on television. 

   The device, known as a V-chip (the “v” stands for violence), allows parents to control their television set so that programs which are unsuitable for children cannot be watched on a particular television.

   The V-chip works by using an electronic code. When a program is broadcast, the signal from the television transmitter carries a code, which indicates the level of sex and/or violence in a particular program. The V-chip inside the television then examines the code for each program and blocks transmission of those programs which contain certain codes. 

   Makers of the V-chip say that parents can be confident that their children will not be able to watch those programs which they decide are unsuitable. 

   V-chip technology has attracted a lot of interest. President Clinton passed a law last year which will require all new televisions to be fitted with V-chips by 1998. And the European Parliament（欧洲议会） has included the V-chip in its new Directive on Broadcasting. 

   But critics say that the system will not be fool-proof, and that children will find ways of getting around it. There are also concerns that foreign satellite television companies may not abide by the rules. Others say that if viewers come to rely on the V-chip, other controls on program content may start to be relaxed. 

6. According to the passage, V-chip technology enables parents to ___C______. 

  A) turn off the television when they are not home

  B) test electronic devices that can take the place of the TV set

  C) keep inappropriate TV programs away from their children

  D) control the amount of time that their children spend on watching TV

7. What do we learn from the passage about the electronic code?     A        
  A) It shows the level of sex and/ or violence in a particular program.  

  B) It contains information about the television transmitter. 

  C) It is the signal that is sent out by the V-chip. 

  D) It is a computer program built in a TV set to examine the V-chip. 

8. The word “they ” in Paragraph 4 refers to ____B____. 

  A) makers  B) parents  C) children  D) programs

9. We can conclude from the passage that ______C_________. 

  A) President Clinton attracted a lot of interest

  B) a law had been passed to prohibit sex and violence on TV

  C) TV sets sold in American after 1998 are required to have V-chips

  D) the European Parliament decided to import the V-chip technology from USA

10. Critics of the V-chip were concerned that ____D____________. 

  A) children may not like the new technology

  B) imported TV set may not have been equipped with V-chips

  C) children may get addicted to the new technology

  D) new problems may arise even if the V-chip works

Questions 11 to 15are based on the following passage.

It is estimated that some seven hundred million people are unable to read and write, and there are probably two hundred and fifty million more whose level of attainment is so slight that it barely qualifies literacy (读写能力).

Recently the attack on illiteracy has been stepped up. A world plan has been drawn up by a committee of UNESCO experts in Paris, as part of the UNESCO Nations Development Decade, and an international conference on the subject has also been held. UNESCO stresses that functional literacy is the aim. People must learn the basic skills of responsible citizenship: the ability to read notices, newspapers, timetables, letters, price-lists, to keep simple records and accounts, to sort out the significance of the information gathered, and to fill in forms.

The major areas of illiteracy are in Asia, Africa, and Central and South America. In Africa there are at least one hundred million illiterates, comprising eighty to eighty-five per cent of the total population. In Europe the figure is about twenty-four million, most of them in Southern Europe, with Spain, Italy, Portugal, and Yugoslavia heading the list (the United Kingdom has about seven hundred thousand).

11. Studying carefully the clues in the passage, we learn that the total population of Africa is     B   .

  A) approximately seven hundred million

  B) approximately one hundred and twenty-five million

  C) approximately eight or eight point five thousand million

  D) exactly twenty-four million

12. The figure of illiteracy in Britain comprises    A    .

A) zero point one per cent of that of illiteracy in the world

B) zero point two per cent of the world adult population

C) thirty-five per cent of Europe’s population

D) three point five per cent of that of the illiteracy in Southern Europe

13. It is obvious that UNESCO     B    .

  A) is a company in France

  B) is a world organization attached to the U. N.

  C) works mainly at combating illiteracy

  D) has many experts whose level of attainment is far from literacy

14. A world plan mentioned in the passage aims at    C    .

  A) training responsible citizens

  B) enforcing the functions of UNESCO

  C) helping illiterates learn how to read and write

  D) urging Southern European countries to take the lead in attacking illiteracy

15. The author implies that this world plan is to    B    .

  A) be carried out in the major areas of illiteracy like Africa

  B) be realized in ten years

  C) be drawn up by Parisian experts

  D) be debated at an international conference
Section B
Directions: In this section there is a short passage with five questions or incomplete statements. Read the passage carefully. Then answer the questions or complete the statements with no more than 10 words. Be sure to write your answers on Answer Sheet (2).

Teen smoking rates have been dropping since 1997, federal health officials report today, but more than a quarter of high school students still smoke cigarettes. 

The Centers for Disease Control and Prevention says roughly 29% of American high school students are smokers, down from 36% in 1997. The finding confirms other studies that show a decline in smoking in this age group. 

The trend is occurring across all race and age groups and in both boys and girls, says Terry Pechacek of the CDC's National Center for Chronic Disease Prevention and Health Promotion. If trends continue, the report says, the national goal to reduce teen smoking rates to 16% or lower by 2010 is achievable. 

Pechacek attributes the decline to a 70% jump in the price of cigarettes from the end of 1997 to May 2001, along with expanded school, state and national smoking-prevention efforts. By 2000, the report says, 92% of the USA's school districts required tobacco-prevention education, and nearly half of middle and senior high schools had no-smoking policies. 

To keep teen smoking rates on a downward path, Pechacek says, cigarette prices should continue to rise and smoking-prevention campaigns should expand. “We’ve got it going in the right direction,” he says, “but we can’t be satisfied with what we have got. If we’re going to continue to decline, we’ve got to continue those efforts.” 

The data being released today are part of the Youth Risk Behavior Survey, a national school-based survey of 14,601 students in grades 9-12 that was conducted in spring 2001.

SAQ 1. This report mainly discusses ___a decline in smoking rate of American high school students _______.
SAQ 2. From 1997 to 2001, the smoking rate in America high school students has dropped by ____ seven____ percentage point.

SAQ 3. What did the US want to achieve in fighting teen smoking by the year 2010? To reduce teen smoking rate to 16 percent or lower  .

SAQ 4. The drop in teen smoking rate was a result of  rising cigarette prices___ as well as efforts from various sectors to prevent smoking. 

SAQ 5. What should be the next step to reduce teen smoking rate according to Pechacek?    o continue to raise cigarette prices and expand smoking-prevention campaigns.

Part II  Vocabulary and Structure (45%)

Section A

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B), C) and D). Choose the one answer that best completes the sentence.

16. There has been an upsurge of interest in chamber music. __C___, opera is receiving a boost from increased record sales.

A) Alike



B) Likely



C) Likewise


D) Liking

17. He would often be working ___B______ on his word processor late into the night.


A) along



B) away



C) far



D) awhile

18. I suggest that ___B_____ the show season starting in June, it should be brought forward to April or May.


A) along with


B) rather than


C) other than


D) except for

19. We'll be exploring different ____A_____ to gathering information.


A) approaches

B) entrance



C) directions


D) instructions

20. We naturally ___C____ the name of Einstein with the theory of relativity.


A) honor



B) communicate

C) associate

D) spin

21. The pictures are similar, but there are ___A______ differences between them.

A) subtle



B) inevitable


C) excessive


D) invaluable

22. Susan was afraid to open the door lest he _____C____ her.

A) followed

B) have followed

C) should follow

D) had followed

23. When you're older I think you're better equipped mentally to cope with ___A_____ happens.

A) whatever




B) whichever




C) no matter how



D) no matter when

24. He got a message from Mr. Johnson ____D_____ the manager could not see him that afternoon.

   A) who


B) which        C) what                  D) that

25. She had been ____C_____ about her father’s choice of doctor and knew now that she had been right. 

A) awful



B) dreadful


C) concerned



D) afraid

26. Why is she looking at me as though she ____C____ me? I've never seen her before.


A) know



B) has known


C) knew



D) had known

27. She ___D_____ her success to hard work and a bit of luck.

A) generated


B) accumulated


C) release
d

D) attributed

28. Our holidays were ruined by the weather: __B_____ have stayed at home! 

 A) it may be as well     B) we might just as well

  C) it was just as well we   D) we might do as well as we

29. “Will eighty dollars be enough?” “Another twenty ____D___.” 

A) will fine



B) will cover


C) will fix


D) will do

30. _____B___ the way he laughed as he told it, it was meant to be humorous.

A) Judged from

B) Judging from

C) Having judged from

D) After having judged from

31. Trade will figure ____A____ in the second day of talks in Washington.

A) prominently

B) irrationally


C) mechanically


D) steadily

32. Non-gaseous substances which ____B_____ naturally as pure elements, such as gold, are rare and are often highly valued.


A) happen



B) occur



C) perceive


D) assume

33. _____C___ the government’s record on unemployment, their chances of winning the election look poor.


A) Give



B) Giving



C) Given



D) To give

34. A sacred site might be a mountain that is ___C_____ some significance to a tribe.


A) with



B) by




C) of


D) at

35. He said it was important that every member _____A____ his subscription by the end of the month.


A) send



B) sent




C) had sent

D) would sent

36. Worrying about the business has turned her into a nervous _____D____ .


A) ritual 



B) theory



C) spectacle 


D) wreck


37. From the top of the hill you can get a beautiful _____A____ of the entire park.


A) perspective

B) profit


C) prospective



D) position

38. Only in a few countries ____C____ a reasonable standard of living.

A) the whole of the population enjoys

B) the whole of the population do enjoy

C) does the whole of the population enjoy

D) the whole of the population enjoy

39. This is the first time she _____D____ disappointment.

A) experience

B) experiences

C) experienced

D) has experienced

40. Insurance statistics show that most wives __C______ their husbands.


A) survey



B) inspect


C) survive


D) engage

41. ___D_____ whether he is right or wrong, we have to abide by his decision.


A) Considering

B) Provided

C) In spite of 



D) Regardless of

42. _____A___ in government was exposed through the agency of the press.

A) Corruption


B) Caution


C) Charity

D) Collision

43. His business was very successful, but it was at his family’s ____B____.


A) exposure


B) expense

C) behalf




D) concern

44. The champagne ___D_____ for the guest to toast the bride and groom, when the police arrived to arrest the groom. 

A) was just pouring out

B) just was poured out

C) just have been pouring out

D) had just been poured out

45. I was made ____B____ two hours for an appointment in the chilly wind.

A) wait    B) to wait

C) waiting


D) waited

Section B

Directions: Complete each of the following sentences with the proper form of the word derived from the one in brackets.

Example 1: Tom does not have a job. He is __  _____. (job)

   Answer: jobless
Example 2: It is _____________ to talk with one’s mouth full of food. (polite)

   Answer: impolite 

46. Few people nowadays are able to maintain friendships into __ adulthood ______ (adult).   

47. Getting there is the main thing——how we get there is a ____ secondary __ (second) consideration.

48. New ways to treat arthritis may provide an __ alternative _ (alter) to painkillers. 

49. The aim of the cruise was to __ awaken ____ (awake) an interest in and an understanding of foreign cultures. 

50. The new test should __ enable _ (able) doctors to detect the disease early. 

51. Pamam is the second airline in two months to file for ___ bankruptcy___ (bankrupt). 

52. Earning enough money to keep his family is a high _ priority ___ (prior). 

53. __ Unemployment __ (employ) is so damaging to both individuals and to communities. 

54. Social science is a __ Unemployment ___ (collect) name, covering a series of individual sciences.

55. He didn’t want to tell Mr Morrison why he was  __ impatient Section __ (patient) to get home.  

Section C

Directions: Complete the following sentences with the appropriate forms of words or phrases according to the meanings of the expressions given in Chinese in brackets.
56. She __ appealed   _(上诉) to the high court against her sentence. 

57. A microscope will ___ magnify ____ (放大) these germs, so that you can actually see them.

58. The Museum exhibited famous _ __ prehistoric ___ (史前的) cave paintings of Lascaux. 

59. Every visitor to Georgia is overwhelmed by the kindness, charm and __ hospitality ___ (好客)of the people. 

60. The talk took place __ in the presence____ (有…在场)of a diplomatic observer. 

61. It is not an idea around which the Community can unite. _ On the contrary __ (正相反), I see it as one that will divide us.  

62. I don’t know why you’re so concerned. It isn’t your problem___ after all __ (毕竟). 

63. The ___ cumulative___ (积累的) effect of using so many chemicals on the land could be disastrous. 

64. Football is not __ immune __ (免疫的) to economic recession. 

65. There is a wide __ diversity _ (差异) of opinions on the question of disarmament. 

Part III  Guided Writing 

(30 minutes, 15 %)

Directions: People have different opinions on what is more important in life, money or health. Write a short essay of about 150 words on this topic. You should base your composition on the outline given below:

         Some people think money is the most important thing in life.

         Some others think health is more important.

         What do you think?

Part I  Reading Comprehension 40%

Directions: Read the following passages and choose the best answer to each of the questions following the passage.

Questions 1 to 5 are based on the following passage:

In some ways the employment interview is like a persuasive speech because the applicant (interviewee) seeks to persuade the employer (interviewer) to employ him or her. Several suggestions might prove helpful to the applicant when he or she is preparing for the actual interview.
A job applicant should gather certain types of information before the interview. First, the applicant should know what kind of job he wants and how that job relates to his career objective. It is important that the applicant be able to state why he wishes to work for a particular company. Second, the applicant should seek as much information as possible concerning the company, such as the location, the financial situation of the company, plans for expansion, and company philosophy. Information about most big corporations is available in reference books and periodicals. 
After gathering information concerning the company, the applicant is ready for the interview. The interviewer’s first impression comes from the interviewee’s appearance. For most interviews, the appropriate dress for a man is a conservative(保守的) dark colored suit with a long sleeve white or light blue shirt and conservative tie. 

Although hairstyle and dress are matters of personal taste, many personnel directors get first impressions from these characteristics. For example, one recent college graduate, who felt himself qualified, interviewed for a public relations job. However, the personnel manager considered this young man’s long hair, sloppy dress, and overly casual manner unsuited for this particular position.　
1. For whom is the passage most likely written?      C     
   A. An employee. 
C. An interviewee.

   B. An employer. 
D. An interviewer.
2. As the author suggests, what the applicant should know before the interview is __  A ___. 

   A. the type of work he wants and his career expectation 

   B. his career objective a particular company will decide 

   C. the reasons why a particular company wants to employ him 

   D. all of the above　　　　　　　　　 
3. Before the interview, the applicant should obtain some information about __B___. 

   A. most big corporations 

   B. the company he wants to work for 

   C. reference books and periodicals 

   D. business and philosophy
4. What the applicant wears, as the author suggests, can make him become __ B___. 

   A. expressive 
C. informative

   B. impressive 
D. conservative

5. What does the passage tell us through the example in the last paragraph?     D    
   A. The importance of personal taste. 

   B. The importance of public relations.

   C. The importance of self-confidence. 

   D. The importance of a first impression. 
Questions 6 to 10 are based on the following passage:

The traditional pattern of classroom experience at the college level brings the professor and a group of 20-to-30 students together for a 45-to-50-minute class session two or three times a week. The most common method of instruction is the lecture. When lectures are the main method of teaching in large classes, regular periods may be set aside for a small group under the leadership of an assistant instructor. In cases where a small class size encourages informality, lectures may be combined with discussion sessions based on assigned readings, required textbooks, and other outside materials.

Accurate, legible notes are invaluable aids to the student who is enrolled in a lecture course. Notes should be taken during lectures and when the student is reading the texts before each class. The key to good note-taking is to be able to listen a lot and to write only as much as is needed to record the essence of a point or idea presented by the lecturer. Thus, students should endeavor to identify only the main points and ideas being presented and to write them down in outline form. They should also strive to take good notes the first time and not plan to recopy notes—or to do so only when clarity and conciseness demand it. Finally, they should review their notes for about five minutes on the same day that they take them, and go over them again for about a half hour at least once a week, according to a regular schedule or plan. There is no course syllabus to be memorized; instead, the examinations will be based on the material presented in the lectures and textbooks. 

6. Which is the main method of instruction in college according to the passage?      A        
   A. Lectures. 
C. 45-to-50-minute class sessions.

   B. Informal talks. 
D. Small group discussions.

7. Where can lectures and discussions be combined together?       C     
   A. In a class where textbooks are read. 
C. In a small class.

   B. In a small group with an assistant instructor. 
D. In a regular class.

8. The word “invaluable” (Line 1, Paragraph 2) probably means ___  D ___.
   A. considerable 
C. meaningless    
   B. worthless 
D. valuable
9. If students want to take good notes, they should __ A  ____.
   A. put down only the main points in outline form
   B. write down what the tests will cover 
   C. write down as much as possible 
   D. put down what they need

10. After taking notes, the students still need to __  D____.
   A. rearrange the notes so that other students may get a copy too

   B. go over the notes for five minutes every day

   C. add to the notes other points included in the syllabus

   D. review the notes on a regular basis

Questions 11 to 15 are based on the following passage:

　　The good news about Britain’s National Health Service (NHS) is that it gives free medical help to everyone who needs it. Sick people don’t have to pay to see the doctor, or to stay in hospital, and they only pay part of the cost of their medicines. The bad news is that the NHS is always running out of money. The British government spends even less on health than the American government. And in the USA sick people also have to pay every time they see a doctor. The NHS has been admired and enjoyed by British people since 1946 when it started. The idea then was to look after people “from the cradle to the grave”. Free medicine was part of the “welfare state”, which gave free education to the young, money to the unemployed, and pensions to the old.　　

Slowly, as the years pass, problems have grown up. Governments are finding that the bills are getting bigger and bigger. In 1982, £14,000 million was spent on health. One reason for this is that there are many more old people now than there were in 1946. Forty percent of NHS money goes to looking after the old. Some people say that the NHS is a luxury Britain can not afford. They want to bring back more private medicine, for which people would pay. Free medicine, they say, should be given only to the poor. Other people, including many doctors, disagree. Everyone, they say, has the right to the same medical help. In a two-part system, the rich would always get the best. This would not be fair. People also disagree about how NHS money should be spent. Should £15,000 be spent on each heart transplant operation, when there are not enough beds for thousands of old people in pain? Should abortions be paid for by the NHS? Should more money be spent on the mentally ill? Shouldn’t doctors and nurses be better paid?　　

The questions go on and on—but so does the NHS. And millions of British people are thankful that it’s there. 

11. In Britain sick people have to pay some money to____C______.
   A. see a doctor 
C. get some medicine
   B. stay in a hospital 
D. have an operation
12. In Britain more money is spent on health than before because_____B_____.
   A. more people get ill
   B. there are more old people
   C. medicines become more expensive
   D. doctors and nurses are better paid

13. Some people want to have more private medicine in Britain because they___C_______.

   A. don’t trust the NHS
   B. want better medical treatment
   C. don’t think Britain can afford free medicine for all
   D. believe that everyone has the right to medical help

14. What is the biggest problem the NHS is facing?      A     
   A. Shortage of money. 
   B. Criticisms from the people.
   C. Arguments about its function. 
   D. Pressure from the government.

15. Which of the following is a controversial issue concerning the NHS?      D            
   A. Whether it’s necessary or not to provide beds for old people in pain.

   B. Whether there should be free medical care for the mentally ill.

   C. Whether people should ever be cared for from birth to death.

   D. Whether money should be spent on more critical cases.
Questions 16 to 20 are based on the following passage. Answer the questions in your own words as briefly as possible.

I.Q. stands for “Intelligence Quotient” which is a measure of a person’s intelligence by means of an intelligence test. Before marks gained in such a test can be useful as information about a person, they must be compared with some standard, or norm. It is not enough simply to know that a boy of thirteen has got, say, ninety in a particular test. To know whether he is clever, average or dull, his test score must be compared with the average achieved by boys of thirteen in that test.

In 1906 the psychologist, Alfred Binet (1857–1911), devised the standard in relation to which intelligence has since been measured. Binet was asked to find a method of selecting all children in the schools of Paris who should be taken out of ordinary classes and put in special classes for defectives (缺陷). The problem made him realize the need for a standard of intelligence, and he hit upon the very simple concept of “mental age”.

First of all, he invented a variety of tests and put large numbers of children of different ages through them. He then found at what age each test was passed by the average child. For instance, he found that the average child of seven could count backwards from 20 to 1 and the average child of three could repeat the sentence: “We are going to have a good time in the country.” Binet arranged the various tests in order of difficulty, and used them as a scale against which he could measure every individual. If, for instance, a boy aged twelve could only do tests that were passed by the average boy of nine, Binet held that he was three years below average, and that he had a mental age of nine.

The concept of mental age provided Binet, and through him, other psychologists, with the required standard. It enabled him to state scores in intelligence tests in terms of a norm. At first, it was usual to express the result of a test by the difference between the “mental” and the “chronological” (按年代顺序排列的) age. Then the boy in the above example would be “three years retarded”. Soon, however, the “mental ratio” was introduced; that is to say, the ratio of the mental age to the chronological age. Thus a boy of twelve with a mental age of nine has a mental ratio of 0.75.

The mental age was replaced by the “intelligence quotient” or “I.Q.”. The “I.Q.” is the mental ratio multiplied by 100. For example, a boy of twelve with a mental age of nine has an “I.Q.” of 75. Clearly, since the mental age of the average child is equal to the chronological age, the average IQ is 100. 

16. The scores in an intelligence test can be useful only after ___comparing them with some standard, or norm________ 

17. What made Binet come up with the concept of “middle age”?     The need to pick out children with defective/low intelligence.     

18. How did Binet arrange the tests after he tested many children with them?  In order of difficulty  .      
19. What is the “mental ratio”?   The ratio of the mental age to the chronological age   .  

20. According to Binet’s standard, a boy of ten who is “four years retarded” has a mental age of   six  
Part II
 Vocabulary and Structure  45%

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A, B, C and D. Choose the one answer that best completes the sentence.

21. Unable to engage in many activities, the old man still tried to __B_______ in some way.

   A. enlarge






    C. involve

   B. participate






D. join

22. Campaigns to stop the spread of SARS must continue to be _____D____ at the whole population. 
   A. controlled   





C. specialized
   B. goaled  






D. targeted
23. Please see to it ____C_____ no one comes in without identification.  
   A. when   






C. that
   B. lest







D. which
24. Whose turn is it to ___C_____ the children after school?

   A. call for                             
C. pick up

   B. go against                           
D. slip into

25. Many a famous pop star __D______ruined by drugs.

   A. have
C. has

   B. have been
D. has been

26. I suggested __A______ the matter to the meeting to hear what they’ve got to say.

A. putting
C. to put

B. being put
D. to be put

27.  It’s time someone made him ___C_____ of the effects of his actions.

A. unconscious
C. aware

B. assured
D. thoughtful

28.  He didn’t know anyone at the wedding ____A____ than the bride and groom.

A. other
C. more

B. except
D. rather

29.  Since our research so far has not produced any answers to this problem, we need to adopt a different ____D____ to it.

A. way
C. means

B. method
D. approach

30.  How much time do you ___A_____ yourself to get ready in the morning?

A. allow
C. reserve

B. stretch
D. guarantee

31.  I’d like to _____C___ this old car for a new model but I can’t afford it.

A. represent
C. exchange

B. abandon
D. overlook

32.  The __C_______ of life in the village was slow and restful. 

A. way

C. pace


B. step

D. routine

33.  Is he    C        to clean the outside of the window or only the inside?

A. associated






C. supposed
B. related   






D. distressing

34. The poor father tried to explain to his children that they couldn’t afford such    A       as expensive toy cars and dolls.

A. luxuries






C. money

B. wealth 






D. wastes

35. I’m sure your suggestions will     A       the problem.

   A. contribute to solving




B. contribute to solve

   C. be contributed to solving



D. be contributed to solve

36. A force 10 wind is     B      of blowing the roofs off houses.

A. ashamed





    C. envious
B. capable






    D. likely

37. No one can function properly if they are    B       of adequate sleep.

A. stemmed

     B. deprived

C. derived    D. subjected

38. You can’t see well through a telescope without correctly     B    it to your sight.

A. balancing

B. adjusting

  C. punching  D. urging  

39. Please    A       your reservations 48 hours in advance.

A. confirm


B. commit

C. concern   D. continue




    

40. I couldn’t get through the gate because your car was     B      .

A. in a way

B. in the way
 C. on the way    D. by the way



    

41. His reputation for carelessness was     D       long before the latest problems arose.

A. generated

B. attributed

   C. defined    D. established




  

42. The child pulled the trigger of an      C     gun.

A. imaginable

B. imaginative
    C. imaginary    D. immeasurable
    

43.
Albert Einstein seldom wore strange clothes, ___B______ a cruel man.

A. nor is he
C. so is he

B. nor was he 
D. so was he

44. If he ___D_____ on tourists for his business, he would have closed his shop. 

A. depends
C. has depended

B. depended
D. had depended
45.  _____D____ mistakes and weaknesses, it did a great deal of good work inside the trade union.

A. No matter what  
C. Although
B. In spite
D. Despite
46. Words play an important ____C_____ in your everyday life. 

A. character 
C. role
B. position 
D. duty 

47. He had been miraculously ___C______ of his illness.

A. treated 
C. healed

B. examined 
D. prescribed
48. When he lost his job, he ____B____ into debt.

A. came
C. walked

B. went
D. took

49. If any of these symptoms _____D___ while you are taking the medicine, consult your doctor immediately.

A. establish
C. perform

B. represent
D. occur

50. Mr. Wang ___C_____ now for the light in his office is still on. 

A. may be working
C. must have been working

B. must be working
    D. may have been working

 Part III 5%
Directions: Complete each of the following sentences with the proper form of the word derived from the one given in brackets.

51. If negotiations for the new trade agreements take much too longer, a critical food __ shortage  will develop in several countries. (short)

52. It is necessary that an __ efficient ___ worker accomplish his work on time. (efficiency)

53. Because radio ___communication  had failed once before, I was afraid the men in the plane might lose touch with the crew on the platform. (communicate)

54. The essay is a proof of his ___ capability __ of using the right word at the right place. (capable)

55. He was __ intelligent___ enough to understand my question from the gestures I made. (intelligence)

56. I offered him a drink and he __ responded ___ with a smile. (response)

57. At the most, he will experience feelings of ___ anxiety___, shame, insecurity, and helplessness. (anxious)

58. This book is abridged from the __ original ____ work. (origin)

59. __ Medical _ science continues to progress in our country. (medicine)
60. Mary is very __ sensitive__ to what people think of her. (sense)

Part IV 10%
Directions: Complete the following sentences with the appropriate forms of words according to the meanings of the expressions given in Chinese in brackets.
61. He expressed his __ frustration ___ (挫折) at not being able to talk openly.

62. When I began to sing, he laughed and made me _ embarrassed __ (窘迫).
63. When you go to the doctor, you’d like to come away with a __ prescription ____ (药方).

64. All three children have __ equality ___ (平等) in our family—they are all treated in the same way.

65. It is a __ tradition__ (传统) that the young look after the old in their family.
66. The patient ___(has) reacted _____ (反应) rapidly to the treatment.

67. The company went __ bankrupt  _ (破产) because of its poor management.
68. The Eskimos are living in perfect _ harmony __（和谐）with nature.
69. I went to a concert of ___ contemporary __ (当代的) music yesterday evening.

70. As a nursery teacher, you mustn’t be ___ impatient__（不耐烦）with the children.
I．Reading Comprehension (40%)
Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A, B, C and D. Choose the best answer to each question.

Passage one

    Since we are social beings, the quality of our lives depends in large measure on our interpersonal relationships. One strength of the human conditions is our tendency to give and receive support from one another under stressful circumstances. Social support consists of the exchange of resources among people based on their interpersonal ties. Those of us with strong support systems appear better able to cope with life changes and daily hassles. People with strong social ties live longer and have better health than those without such ties. Studies over a range of illnesses, from depression to heart disease, reveal that the presence of social support helps people fend off illness, and the absence of such support makes poor health likely.

Social support cushions stress in a number of ways. First, friends, relatives, and co-workers may let us know that they value us. Our self-respect is strengthened when we feel accepted by others despite our faults and difficulties. Second, other people often provide us with informational support. They help us to define and understand our problems and find solutions to them. Third, we typically find social companionship supportive. Engaging in leisure-time activities with others helps us to meet our social needs while at the same time distracting us from our worries and troubles. Finally, other people may give us instrumental support ― financial aid, material resources and needed services — that reduces stress by helping us resolve and cope with our problems.

1. 
Interpersonal relationships are important because ____D_______.


A. they can cure a range of illnesses such as heart disease, etc.


B. they help people to cope with life in the information era


C. they awaken people’s desire to exchange resources


D. they are indispensable to people’s social well-being

2.
Research shows that people’s physical and mental health _____C______.


A. depends on their ability to deal with daily worries and troubles


B. relies on the social welfare systems which support them


C. has much to do with the amount of support they get from others


D. is closely related to their strength for coping with major changes in their lives

3.
Which of the following is closest in meaning to the word “cushions” (Para. 2) ____B_______?


A. Lays the foundation for.


B. Lessens the effect of.


C. Adds up to.


D. Does away with.

4.
Helping a sick neighbor with some repair work is an example of _____C____.


A. informational support


B. social companionship


C. instrumental support


D. the strengthening of self-respect

5.
Social companionship is beneficial in that _____D______.


A. it helps strengthen our ties with relatives


B. it makes our leisure-time activities more enjoyable


C. it enables us to eliminate our faults and mistakes


D. it draws our attention away from our worries and trouble

Passage Two
    Whether the eyes are the windows of the soul is debatable, but that they are intensely important in interpersonal communication is a fact. During the first two months of a baby’s life, the stimulus that produces a smile is a pair of eyes. The eyes need not be real: a mask with two dots will produce a smile. Significantly, a real human face with eyes covered will not motivate a smile, nor will the sight of only one eye when the face is presented in profile. This attraction to eyes as opposed to the nose or mouth continues as the baby matures. In one study, when American four-year-olds were asked to draw people, 75 percent of them drew people with mouths, but 99 percent of them drew people with eyes. In Japan, however, where babies are carried on their mother’s back, infants do not acquire as much attachment to eyes as they do in other cultures. As a result, Japanese adults make little use of the face either to encode (编码) or decode meaning. In fact, Argyle reveals that the “proper place to focus one’s gaze during a conversation in Japan is on the neck of one’s conversation partner.” 

    The role of eye contact in a conversational exchange between two Americans is well defined: speakers make contact with the eyes of their listener for about one second, then glance away and they talk; in a few moments they re-establish eye contact with the listener or reassure themselves that their audience is still attentive, then shift their gaze away once more. Listeners, meanwhile, keep their eyes on the face of the speaker, allowing themselves to glance away only briefly. It is important that they are looking at the speaker at the precise moment when the speaker assumes that they are disinterested and either will pause until eye contact is resumed or will terminate the conversation. Just how critical this eye maneuvering is to the maintenance of conversational flow becomes evident when two speakers are wearing dark glasses; there may be a sort of traffic jam of words caused by interruption, false starts, and unpredictable pauses.

6.
The author is convinced that the eyes are ____D_____.


A. something the value of which is largely a matter of long debate


B. something through which one can see a person’s inner world


C. of considerable significance in making conversations interesting


D. of extreme importance in expressing feelings and exchanging ideas

7.
Babies will not be stimulated to smile by a person ____A_____.


A. whose face is seen from the side


B. whose face is covered with a mask


C. whose front view is fully perceived


D. whose face is free of any covering

8.
According to the passage, the Japanese fix their gaze on their conversation partners’ neck because ___C______.


A. they don’t like to keep their eyes on the face of the speaker


B. they need not communicate through eye contact


C. they didn’t have much opportunity to communicate through eye contact in babyhood


D. they don’t think it polite to have eye contact

9.
According to the passage, a conversation between two Americans may break down due to ___A_____.


A. improperly-timed ceasing of eye contact


B. eye contact of more than one second


C. one temporarily glancing away from the other


D. constant adjustment of eye contact

10.
To keep a conversation flowing smoothly, it is better for the participants____C____.

A. not to make any interruptions


B. not to glance away from each other


C. not to wear dark spectacles


D. not to make unpredictable pauses

Passage Three
Many a young person tells me he wants to be a writer. I always encourage such people, but I also explain that there’s a big difference between being a writer and writing. In most cases these individuals are dreaming of wealth and fame, not the long hours alone at a typewriter. “You’ve got to want to write,” I say to them, “not want to be a writer.”
    The reality is that writing is a lonely, private and poor-paying affair. For every writer kissed by fortune there are thousands more whose longing is never rewarded. When I left a 20-year career in the U.S. Coast Guard to become a freelance writer, I had no prospects at all. What I did have was a friend who found for me my room in a New York apartment building. It didn’t even matter that it was cold and had no bathroom. I immediately bought a used manual typewriter and felt like a genuine writer.

    After a year or so, however, I still hadn’t got a break and began to doubt myself. It was so hard to sell a story that barely made enough to eat. But I knew I wanted to write. I had dreamed about it for years. I wasn’t going to be one of those people who died wondering. What if? I would keep putting my dream to test (even though it meant living with uncertainty and fear of failure). This is the shadow-land of hope, and anyone with a dream must learn to live there.

11.
The passage is meant to ____A____.


A. warn young people of the hardships that a successful writer has to experience


B. advise young people to give up their idea of becoming a professional writer


C. show young people it is unrealistic for a writer to pursue wealth


D. encourage young people to pursue a writing career

12.
What can be concluded from the passage?         D        

A. Genuine writers often find their work interesting and rewarding.


B. A writer’s success depends on luck rather than on effort.


C. Famous writers usually live in poverty and isolation.


D. The chances for writers to become successful are small.

13.
Why did the author begin to doubt himself after the first years of his writing career?      B      

A. He was not able to produce a single book.


B. He hadn’t seen a change for the better.


C. He wasn’t able to have a rest for a whole year.


D. He found his dream would never come true.

14.
In “...people who died wondering”, “who” refers to those ___B_____.


A. who think too much of the dark side of life


B. who regret giving up their career halfway


C. who think a lot without making a decision


D. who are full of imagination even upon death

15.
“Shadow-land” in the last sentence refers to _____C_  __.

A. the wonderland one often dreams about


B. the bright future that one is looking forward to


C. the state of uncertainty before one’s final goal is reached


D. a world that exists only in one’s imagination

Passage Four
    What do we think with? Only the brain? Hardly. The brain is like a telephone exchange. It is the switchboard, but not the whole system. Its function is to receive incoming signals, make proper connections, and send the messages through to their destination. For efficient service, the body must function as a whole.

    But where is the mind? Is it in the brain? Or perhaps in the nervous system? After all, can we say that the mind is in any particular place? It is not a thing, like a leg, or even the brain. It is a function, an activity. Aristotle, twenty-three hundred years ago, observed that the mind was to the body what cutting was to the ax. When the ax is not in use, there is no cutting. So is the mind. “Mind,” said Charles H. Woolbert, “is what the body is doing.”
    If this activity is necessary for thinking, it is also necessary for carrying thought from one person to another. Observe how people go about the business of ordinary conversation. If you have never done this painstakingly (费力的), you have a surprise in store, for good conversationalists are almost constantly in motion. Their heads are continually nodding and shaking sometimes so vigorously that you wonder how their necks can stand the strain. Even the legs and feet are active. As for the hands and arms, they are seldom still for more than a few seconds at a time. 

    These people, remember, are not making speeches. They are merely common folk trying to make others understand what they have in mind. They are not conscious of movement. Their speech is not studied. They are just human creatures in a human environment, trying to adapt themselves to a social situation. Yet they converse, not only with oral language, but with visible actions that involve practically every music in the body.

In short, because people really think all over, a speaker must talk all over if he succeeds in making people think.
16. 
Which of the following is the best title for the passage?       A     

A. Bodily Communication


B. Bodily Actions


C. Spoken Language


D. Conversations
17.
Which of the following statements would the author agree with?      D     

A. Thinking is a social phenomenon. 

B. Thinking is solely a brain function.


C. Thinking is a function of the nervous system.


D. Thinking is the sum total of body activity.

18.
In communication, it is essential not only to employ speech, but also _____B___.


A. to speak directly to the other person


B. to employ a variety of bodily movements


C. to be certain that the other person is listening


D. to pay great attention to the other person’s behavior

19.
It can be inferred from the passage that the basic function of bodily activity in speech is to ___C______.


A. make the listener feel emotional 


B. make the speaker understood


C. amplify or intensify the speaker’s spoken words


D. convey the speaker’s implied meaning to the listener
20.
Which of the following is TRUE?          A        

A. The brain is compared to a telephone exchange.


B. The mind is an activity of the nervous system.


C. Some people remain still while talking to others.


D. Many people move their bodies on purpose while talking.
II．Vocabulary and Structure (45%)

Directions:
For each of the following incomplete sentences, there are four choices marked A, B, C and D. Choose the one that best completes the sentence.

21.
If you want to ____C__ that you get the diploma, you have to work harder and take all these curricula and pass them.

A. insure      
B. assure       
C. ensure       
D. secure 

22.
The picture __ D   __ the days when I spent my childhood in the countryside.


A. reminded    
B. recollected     
C. remembered   
D. recalled

23.
Mr. Smith had an unusual _D___: he was first an office clerk, then a sailor, and ended up as a school teacher.


A. profession 
B. occupation  
C. position  
D. career

24.
People could hardly __A__ their anger when they found millions of dollars of public funds had been used to build luxurious houses for city officials.


A. hold back  
B. draw back 
C. keep back  
D. hold up

25.
I believe they are the most ___D____ people we have in China.


A. hopeful   
B. likely   
C. prospective  
D. promising

26.
The wild animals are __D_____ in small cages in the zoo.

A. restricted    
B. limited   
C. restrained   
D. confined

27.
She__C____ her good health to diet and exercise.

A. subjects   
B. attributes    
C. owes   
D. refers

28.
The victim was able to give a(an)___C____description of the suspect.

A. correct   
B. accurate   
C. precise   
D. exact

29.
A good teacher is able to _____C____ a complicated idea in very simple terms.


A. work out  
B. go by   
C. put across  
D. bring about

30.
Over the years my father had gradually ___C____ a collection of precious stamps. 


A. absorbed 
B. gathered   
C. accumulated    
D. collected

31.
It was ___B___ of you to get up early to catch the first bus so that you could avoid traffic jam.


A. sentimental   
B. sensible    
C. reasonable  
D. sensitive

32.
How to create enough jobs for the laid-off workers is a(an) ___D____ problem for which there is no simple solution.


A. internal    
B. emergent   
C. important   
D. complex

33.
The hurricane has damaged the crops. But we have not had enough information to __C____ whether the loss has been well beyond a million dollars. 


A. examine  
B. explore   
C. assess   
D. calculate

34.
Some parents go out their ways to __B_____ their kids from bad movies that are likely to affect their healthy growth. 


A. release 
B. shelter  
C. prevent 
D. stop 

35.
Professor Smith gave us a brief and vivid lecture. He _____D___ his idea that even to this day man is still very ignorant of himself.


A. put across
B. figured out  
C. worked out   
D. drove home

36.
I take pride in being an independent thinker in full possession of my critical ___C___.


A. judgment  
B. abilities   
C. faculties    
D. capacities

37. They have had a well-grown bamboo in their minds after a long-time planning; therefore, this project is well ___D_____.


A. on hands  
B. by hand    
C. at hand   
D. in hand

38.
Mary ___A____ her bag at the first sight by seeing its color.


A. identified   
B. told    
C. recognized   
D. claimed

39.
I appreciate __D_____ to your home.


A. to be invited 
B. to have invited 
C. having invited  
D. being invited

40.
Our only request is that this _____D___ as soon as possible.


A. must settle 
B. is settled  
C. settled     
D. be settled

41.
Once environmental damage ______D__, it takes many years for the system to recover.

 
A. has done  
B. is to do   
C. does    
D. is done

42.
She didn’t _____A__ me for returning the wallet that I found.


A. so much as thank        
B. so much as to thank


C. as much as thanking         
D. so much as thanking

43. The hours ____D___ the children spend in their one-way relationship with television people undoubtedly affect their relationships with real-life people.


A. in which  
B. on which  
C. when    
D. that

44.
___C___ receiving financial support from family, community or the government is allowed, it is never admired.


A. As    
B. Once    
C. Although    
D. Lest

45.
They claim that _B___ 1,000 factories closed down during the economic crisis.

A. sufficiently 
B. approximately  
C. considerably 
D. properly  

46.
Farmers mistrusted speculative grain selling through Grain Exchange. It happened too often that they sold their wheat soon after harvest _A___ see prices rising and speculators getting rich.

A. only to   
B. so as to     
 C. in order to   
D. in attempts to

47.
All    B    is a continuous supply of fuel oil.


A. which is needed
B. that is needed
C. the things needed
D. for their needs

48.
There is no tree   C     bears some fruit.


A. that     
B. which      
C. but        
D. unless

49.
You’d rather watch TV this evening, ___C_____?


A. isn’t it  
B. hadn’t you 
C. wouldn’t you 
D. won’t you

50.
Jean doesn’t want to work right away because she thinks that if she _B____ a job she probably wouldn’t be able to see her friends very often.


A. has to get 
B. were to get 
C. had got 
D. could have got

III. Guided Writing (15%)

Directions: For this part you are allowed 30 minutes to write a letter in reply to a friend. You should write at least 100 words and the following hints should be included.

1、Suggesting which major to choose and the reasons

2、The basic requirements for taking this major

3、About how to prepare the entrance exam for this major
Part I  Reading Comprehension (40%)
Section A
Directions: There are three reading passages in this section. Each passage is followed by some questions or unfinished statements. For each of them there are four suggested answers marked A, B, C and D. Choose the best answer to each question.

Questions 1 to 5 are based on the following passage:
Students can travel in the United States without spending too much money if they follow these suggestions.

A travel agent can give you information on special economy fares for trains, buses and planes. Think about hiking or biking for a part of your trip, too. You’ll not only save money, but you’ll also see a lot more of the country.

Some students may want to travel by car. Be sure to think about going with other students — many colleges have “ride boards” that list when and where other students plan to travel. Many radio stations provide the same sort of service — they announce who’s driving where, when, how many riders they will take and what the expenses will be.

There are many inexpensive, older hotels near bus or train stations. Check your travel guide for names of the best. Many parts of the country also have youth hostels where young people can stay for only a few dollars a night.

You don’t have to eat in restaurants all the time, but we don’t recommend a diet of candy and cola, either. You can usually get a healthy, cheap breakfast in a restaurant. If the weather is warm, you can buy food in supermarkets or at roadside stands and have a picnic for lunch. For dinner you can get the names of good, cheap restaurants from travel guides or friends.

 1. The passage tells students ___C_____.
A. how to make travel plans
B. how to get help while traveling
C. how to use less money while traveling
D. how to choose hotels

 2. To see more of the country, you’d better travel ____D____.
A. by plane






B. by bus
C. by train







D. by bike

 3. If you want to share rides with others, you can get information ____B____.
A. on the blackboards in classrooms
B. from school administrators
C. through certain radio programs
D. from travel agents
 4. According to the passage, staying at youth hostels is _____A___.
A. cheap







B. convenient
C. comfortable






D. enjoyable

 5. To save money, you can ____C____.
A. have more candy and cola



B. invite your friends for a picnic
C. take some food with you



D. eat in restaurants sometimes

Questions 6 to 10 are based on the following passage:

Throughout her working life, a ship — like a motorcar — must be serviced regularly if she is to remain efficient. After a period at sea she must be overall checked and any necessary repairs must be made. There are also instances when a ship must be converted from being one kind of carrier to another. Most of today’s oil, for example, is carried by huge super-tankers. The smaller tankers, many of which are still in good condition, can be converted into bulk carriers（散货船）for the transport of sugar, coal or ore.


Conversion or repair work is carried out in a dry dock, a huge hole cut into the ground and lined with concrete. At one end are large gates separating the dock from the river or sea. When these gates are opened, water pours into the dock and fills it. A ship can then enter the dock, where it is carefully fastened in an upright position.


When the ship is positioned inside the dock, the gates are closed and the water is pumped out. The vessel slowly settles on to wooden blocks. Wooden supporters are put in position between the ship and the sides of the dock to prevent her from rolling over. Great care is taken to make sure that the ship rests evenly on the keel（龙骨）blocks to prevent damage being done.


As soon as the ship is firmly positioned, repair or conversion work can begin on her body or superstructure.

 6. According to the passage, in what way is a ship like motorcar?         B           
A. It needs to be repaired in a dry dock.
B. It requires regular service.
C. It can be converted into other kinds of vehicle.
D. It has a long working life.

 7. Many smaller tankers have been converted into bulk carriers because ___C____.
A. there is a shortage of oil in the world
B. large amounts of sugar, coal and ore is needed in the world market
C. most of today’s oil is carried by huge super-tankers
D. many of them are still in good condition

 8. We can infer that a dry dock _____A___.
A. is built by the water




B. is built far from the water
C. is built under the water




D. is floating on the water
 9. What do you think will happen to a dry dock when the repairs to a ship are completed?         B        
A. The water is pumped into it again. 
B. The gates are opened and the water pours in.
C. It is floated out to sea.
D. It is converted to another kind of dock.

10. According to the passage, how is a ship kept upright in a dry dock?     D        
A. It is lined with concrete.



B. It is placed on keel blocks.
C. It is fastened to the shore.



D. It is supported with pieces of wood.

Questions 11 to 15 are based on the following passage:


Clifford Stoll ran a computer system in Berkelely, California. As a system administrator, he kept a close eye on the records. One day, Stoll found something strange in the payment record. There was a 75 cents mistake. One of the thousands of users had used the system for 75 worth of time and not paid for it.


It might sound like very little money to worry about. But that 75 cents was the first clue Stoll had to a much bigger problem — that a hacker（黑客）had broken into Stoll’s computer system. Who was it? Stoll spent the next year trying to find out. During that time the hacker used the system in Berkelely as a starting point to break into military computer systems all over the United States.


Stoll had to keep track of the hacker’s activities on the computer without the hacker’s knowing someone was watching him. Stoll even made up huge files of false information so the hacker would have lots to read. When the hacker spent long time reading, the telephone company was able to trace the lines. After a year, the hacker was traced back to his computer — in Germany. He was later caught by the German police.

11. The passage is mainly about _____C___.
A. how Stoll ran his computer system
B. how a hacker used the computer system without paying the money
C. how a hacker was tracked down by Stoll
D. how the police caught a hacker by surprise

12. The expression “keep a close eye on” in paragraph 1 most probably means ____A____.
A. to watch carefully





B. to notice unexpectedly
C. to study closely





D. to observe at a short distance

13. Stoll was concerned about a 75 cents mistake because ___D_____.
A. every cent was important to the company
B. it might lead to a greater loss for the company
C. he was afraid the computer system might break down some day
D. he realized someone had broken into the computer system

14. What did Stoll decide to do when he found the problem?       C    
A. To report to the police.
B. To warn the telephone company.
C. To track down the hacker by himself.
D. To see what the hacker would do next.

15. Why did Stoll make up huge files of false information?      B     
A. He wanted to give the hacker a lesson.
B. It would help the telephone company trace the line.
C. It would give the police more time to find out the hacker.
D. He could watch the hacker’s activities more closely.
Section B
Directions: There is one reading passage in this section. The passage is followed by five statements. Decide whether these statements are true of false according to the passage. Write “T” for true and “F” for false in the brackets behind each statement.


In most cities in the United States, there are both large and small food stores. People can buy fruit and vegetables in one store, meat in another, and bread and milk somewhere else. However, many people prefer to shop at a large grocery store or supermarket near their homes. As people in cities live near several different kinds of food stores, they can often walk to a store when they need something.


In the suburbs or the country, people usually drive to shopping centers to buy all their groceries. A shopping center usually has a big supermarket, many small stores, drugstores, banks, restaurants and a cinema. There is also a large parking lot for all the cars. Shopping centers are convenient because people can park their cars and do all their shopping and banking in one trip. People in towns can do a week’s shopping in an hour or two.


Supermarkets usually sell many kinds of products, so people can shop for food, cleaning items and other products at one store. Most supermarkets sell several brands of canned and frozen food produced by different companies. Many of these stores also sell a brand with the name of the store on it. These store brands are almost always less expensive than products from other companies.

16. People can buy different kinds of products in one store in the city.    (   F     )

17. It is very convenient for people in the city to buy what they want because the stores are quite near.    (    T    )

18. People in the city go to a shopping center by car because it is usually far from their homes.    (     T   )

19. People can do all their shopping and entertain themselves in a large supermarket.    (   F     )

20. The products bearing store brands in a supermarket are usually cheaper than those from other companies.    (    T    )

Part II  Vocabulary and Structure  (30%)
Directions: For each of the following sentences there are four choices marked A, B, C and D. Choose the one answer that best completes the sentence.

 1. There seems to be an electrical problem. I’ll get someone to ______B__ it.
A. look out






B. look into
C. look upon






D. look at

 2. His knowledge of English is ___A_____ for the job, although he is not fluent in the language.
A. adequate






B. different
C. pleasant






D. complicated

 3. Travelers in space have to ____C____ many discomforts in their rockets.
A. persist







B. care
C. endure







D. allow

 4. It was hard work, but they __D______ to it and got the job done.


A. continue






B. follow


C. adjust







D. stuck

 5. Community service can __A______ anything from gardening to helping in old people’s homes.


A. involve







B. remain


C. insist







D. ask

 6. It took him almost three hours to __C______ the distance from his office to his home.
A. cross







B. reach
C. cover







D. gain

 7. I’d love a new car, but I just can’t __B______ it.
A. offer







B. afford
C. spend







D. cost
 8. They ___B_____ the plan to see whether it could really be carried out.
A. got over






B. talked over
C. broke through





D. let out

 9. After the war, Germany became one of Europe’s most ____A____ countries.


A. prosperous






B. swift


C. improved






D. interested

10. The fact that something is cheap doesn’t ____A____ mean it is of low quality.


A. necessarily






B. especially


C. essentially






D. practically

11. For wildlife enthusiasts the journey is ____D____ —- the region is known for its sea birds. 


A. delighted






B. pleased


C. worthy







D. worthwhile
12. We have to get that car fixed ____C____.


A. no matter it costs how much


B. no matter how much costs it


C. no matter how much it costs


D. no matter how much does it cost

13. He hardly ever leaves the house after ten at night, ____B____?


A. doesn’t he






B. does he


C. so does he






D. nor does he
14. In school days I ___A_____ all the way to the school, but would sometimes take the bus when it rained.
A. used to walk






B. used to walking
C. was used to walk





D. would use to walk

15. I’ll find the person who did this, ____C____ he is!


A. anybody






B. someone


C. whoever






D. whomever
16. The conflict spread everywhere, into villages, ___B_____ into the cities.


A. as well







B. as well as


C. in addition






D. in addition to

17. The driver admitted that not only ___C_____, but he didn’t have a driving license either.
A. was not he insured




B. he was insured not
C. was he not insured




D. he was not insured

18. It is when you nearly lose someone ____C____ you become fully conscious of how much you value them.
A. as








B. so
C. that







D. when

19. Harry took a taxi to work this morning. He _____A___ a taxi if he had not missed the only bus that passes by his office.


A. wouldn’t have taken




B. wouldn’t take


C. hadn’t taken






D. won’t take

20. We found ____D____ to talk about that it was late at night when we remembered the time.

A. very much






B. such much


C. as much






D. so much

Part III  Cloze (10%)
Directions: There are 10 blanks in the following passage. For each blank there are four choices marked A, B, C and D. Choose the one answer that best fits into the passage.


There are two ways to relate to people in our lives. One way is to see them as objects: we get something from them, but we are not (1) __C______ with how they feel. They are there only for our use. For example, we might treat (2) ____A____ an object the person who sells us items in a convenience store or (3) __B______ us in a restaurant or even teaches a class we are taking. The second way we can see people is as subjects, letting ourselves be (4) ___B_____ that they have feelings (5) ____D____ we do. There is a story about a British woman who was (6) ____B____ important guests for tea one afternoon. She looked out from her front porch after lunch and was horrified to see that her gardener had not (7) ___A_____ for work. When he finally arrived, she tore into him. “Do you know who is coming here in an hour? I ought to fire you!” Without (8) _____C___, the man quietly said, “I’m sorry, my little girl died during the night, and we had to bury her today.” For the first time, the woman saw the man as a human being, not simply as a device for keeping her lawn attractive. He stopped (9) ___A_____ an object and became a subject, a possessor of feelings, needs, pains, and relationships to (10) ____D____ she had never given a thought.
 1. A. considered






B. worried
C. concerned






D. related

 2. A. as








B. for
C. like







D. about

 3. A. looks after






B. waits on
C. sees to







D. brings about

 4. A. certain







B. aware
C. confident






D. positive

 5. A. such like






B. much like
C. such as







D. just as
 6. A. respecting






B. expecting
C. preparing






D. predicting

 7. A. shown up






B. come across
C. turned over






D. hung around

 8. A. looking out






B. looking for
C. looking up






D. looking on

 9. A. being







B. to be
C. be








D. having been

10. A. those







B. them
C. that







D. which

Part V  Translation (20%)
Section A
Directions: In this section there are some sentences from the reading passages. Translate them into Chinese. Refer to the related passages they are chosen from if necessary.

 1. Think about hiking or biking for a part of your trip, too. You’ll not only save money, but you’ll also see a lot more of the country.

_____你的某段旅程也可考虑徒步或骑自行车，这样不但能省钱，还可看到更多的乡村景色。
 2. Many radio stations provide the same sort of service — they announce who’s driving where, when, how many riders they will take and what the expenses will be.

__许多电台提供同样的服务，它们公布有谁打算开车去哪里、何时去、可带多少人，以及有关费用是多少等。
 3. The smaller tankers, many of which are still in good condition, can be converted into bulk carriers for the transport of sugar, coal or ore.


_许多较小的油轮船况还很好，可以将它们改造成散货船，用来运输糖、煤或矿石。
4. Stoll had to keep track of the hacker’s activities on the computer without the hacker’s knowing someone was watching him.


___斯托尔必须在黑客不知道有人在监视的情况下，跟踪黑客在电脑上的活动。   
5. Shopping centers are convenient because people can park their cars and do all their shopping and banking in one trip.

____购物中心很方便，因为人们可以在那里停车，而且去一次就可买齐所要的一切并在银行办好存取款业务。
Section B
Directions: There are five sentences in this section. Translate them into English. Use the expressions in brackets if any.

 6. 她的信用了一个月才到达这里。一定是在邮局罢工中被耽误了。（hold up）

___ Her letter took a month to get here. It must have been held up in the post office strike.___________

 7. 母亲总是坚持要求（insist）他保持房间整洁。

___ Mom always insists that he keep his room tidy.

8. 科学家将必须拿出增加世界粮食供应的新办法。（come up with）


__ Scientists will have to come up with new methods of increasing the world’s food supply.  
9. 我们可以通过电话与世界上大多数地方的人交流。


__ We can communicate with people in most parts of the world by telephone..

10. 一开始我以为听懂了她说的话，但是我越想就越觉得糊涂。


__ At first I thought I understood what she said, but the more I thought about it, the more confused I became.
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